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1 IR 2% 121, 561 147,967 109, 025 21,7 A 26.3] A 1.8
(1) B IR 54, 662 20, 190 20,155 A 63.1 A 0.2 A 206
HEUA 54,597 20, 179 19.977] A 63.0] A 1.0 A 20.7
ZEISEINE 0 0 0 — — —
(2) BN 66, 899 127,777 88, 870 91.0| A 30.4 9.7
thestEAS 66, 899 127, 777 88, 608 91.0| A 30.7 9.7
2 BB A 122,106 147, 209 111,737 20.6] A 24.1 A 1.0
MEXER 120, 146 145,125 111,186 20.8] A 234 AO0.7
BEWREE 45, 688 46,912 49,273 2.7 5.0 2.0
RHREIEE 0 0 0 — — —
Q) EENEH 1,960 2,084 551 6.3 A 73.6] A 26.1
mAEFE 0 0 0 — - -
3 UnzEmiRFE3| A 545 758] A 2,712 239.1| A 457.8| A 205.2
1 BRIURA 11, 242 15, 906 12, 463 41.5| A 21.6 —
Wi A/ & 0 0 0 — - —
Q) st AS 11, 242 15, 906 4, 620 41.5] A T1.0 —
2 BXRIZH 11,242 8, 063 11,275| A 28.3 39.8 —
OF:-554-%-1 11,242 8, 063 11,275| A 28.3 39.8 —
Q) HAHFEEES 0 0 0 — - -
3 BEARMIREZEE 0 0 1,188 — | & = —
1 IRFEEL A 545 758| A 1,524 239.1| A 301.1| A 193.8
2 BRI 13,310 21,911 12, 544 64.6] A 42.8 8.6
3 EBRX 13,310 14, 068 11, 356 57 A 19.3 6.4
1 MABRERES 0 0 - - -
1 5 X H 3 3 3 0 0 —
BEPOELM 0 0 0 - - -
ISR R FEEH 1 0 1 A 1 —
EEWRZFFEEHR 0 0 0 - - -
1 UK 99. 6 100.5 97.6 0.9)] A 29 —
2 EEIXtE 45.5 13.9 18.1| A 31.6 4.2 —
3 HEEREKRELE 0.0 0.0 0.0 0.0 0.0 —
1 FEREEEEH (N) A 91,572 68, 045 83,484 A 25.7 22.7 —
2 FEAFEHEEHR (L) B 21,239 8, 341 8,945 A 60.7 7.2 —
3 F B = B/A x 100 23.2 12.3 10.7] A 10.9] A 1.5 —

4 FHEARKEFEEHR (N) 46,715 32, 065 34,150 A 31.4 6.5
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